Interval Scaling Method
Example using the 2010-11 5™ Grade Reading/Language Arts Achievement

Conditions

(1) Number Correct = 0, then Numeric Score=0,

(2) Raw Cut of Basic = 29 (2011 RLA, Grade=5), then 70 (Numeric Score),

(3) Raw Cut of Proficient = 48 (2011 RLA, Grade=5), then 85 (Numeric Score),

(4) Raw Cut of Advanced = 61 (2011 RLA, Grade=5), then 93 (Numeric Score),

(5) Maximum Number Correct (67=total number of items in a test), then 100 (Numeric Score)

Procedures for 0 to 70 Numeric Scores
(6) Interval for 0 to 70 numeric scores: 70 + Basic Cut =70 + 29 =2.4138
(increment)

Example: Raw Score (=Number Correct) = 1, then Numeric Score = 2.4138.
Example: Raw Score (=Number Correct) = 10, then Numeric Score = 2.4138 x 10 = 24.

Procedures for 70 to 85 Numeric Scores

(7) Interval for 70 to 85 numeric scores: (85-70) + (48-29) = .7895 (increment)

Example: Raw Score (=Number Correct) = 34, then Numeric Score = 70 + .7895 x (34-29) = 74.
Example: Raw Score (=Number Correct) = 44, then Numeric Score = 70 + .7895 x (44-29) = 74.

Procedures for 85 to 93 Numeric Scores

(8) Interval for 85 to 93 numeric scores: (93-85) + (61-48) = .6154 (increment)

Example: Raw Score (=Number Correct) = 50, then Numeric Score = 85 + .6154 x (50-48) = 86.
Example: Raw Score (=Number Correct) = 58, then Numeric Score = 85 + .6154 x (58-48) = 91.

Procedures for 93 to 100 Numeric

Scores

(9) Interval for 93 to 100 numeric scores: (100-93) + (67-61) = 1.1667 (increment)

Example: Raw Score (=Number Correct) = 63, then Numeric Score =93 + 1.1667 x (63-61) =
95.

Example: Raw Score (=Number Correct) = 65, then Numeric Score =93 + 1.1667 x (65-61) =
98.






